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SM: BRI
Hu: 20|ASA

Celr W==3t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Dt==fAE DB S 177,065 150,000 27,065

402 QI”F X201 & 177,065 150,000 27,065
01 QI X2 AL E A (KEMITHR) 177,065 150,000 27,065
OUMASH= MK 67,065
OADIE ==& SEXE 110,000
Dt AAIZ S UE K 80,000 37,500 42,500
Jl 32,000
= 14,400
Al 33,600
402 2IZtA=01d 80,000 37,500 42,500
Jl 32,000
= 14,400
Al 33,600
02 QI X2 AL EE(0IETHE) 80,000 37,500 42,500
OFTAVIS = NSEULAIE Bzt 80,000
) 32,000
< 14,400
Al 33,600
Dt==3tElls Ot MAD[BrER Y 439,017 368,608 80,409
= 54,303
Al 384,714
401 AIZHIX S0HH 20,000 20,000
01 AlZH| 20,000 20,000
OUATBUME AlE FXI2e 20,000
402 2I2FX=201H 419,017 338,608 80,409
[ 54,303
Al 364,714
01 QI X2 AL E A (KHMITHE) 125,000 67,771 57,229
OAHD ZIIMZHI(XEA) 80,000
OARD ZIIME M (XXM SA) 45,000
02 QI X2 AL E R (01X THE) 294,017 270,837 23,180
OAR ZIIMEH 14,000
=S 2,800
Al 11,200
Ot =8& ZIt= X 20,000
< 4,000
Al 16,000
OIS HHAMAAIZS e 62,027
= 12,405
Al 49,622
Ost3| datAle St 45,000
== 9,000




2A: eXHAF I
A RoAEEH
s s B See (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 36,000
Ostgll RESAd & HHl=s 11,100
T 2,220
Al 8,880
OZZ(50IM )CH 6,890
& 1,378
Al 5,612
O 2te| M= A= X 47,500
T 9,500
Al 38,000
Ol XA 2K 87,500
= 13,000
Al 74,500
sHZSYolE LAYl K& 421,400 452,300 230,900
= 210,700
Al 210,700
206 =4l 421,400 452,300 230,900
= 210,700
Al 210,700
01 =8l 421,400 452,300 230,900
Ol Yolls Al 421,400
= 210,700
Al 210,700
d2=At0 =H 31,250 31,250 0
& 6,250
Al 25,000
307 212+01™ 31,250 31,250 0
& 6,250
Al 25,000
04 QIZHSHAAII B X 31,250 31,250 0
Og3s=At EH 31,250
T 6,250
Al 25,000
ADIEE Salwe| =& 3,202,400 24,400 3,178,000
= 1,600,000
Al 1,602,400
ADIEE Salde| AAHAY =& 2,400 24,400 A22,000
202 0idl 1,400 1,400 0
01 =LHO4 b 1,400 1,400 0
OADIEE Salde| =4 1,400
203 PR =&IH| 1,000 1,000
03 A FAIH R FAIH| 1,000 1,000
OADIEE Saldie| =4 1,000




SAf: BRIAIRITE
Ha: A0 MRS

Ciel: ADIE™ AR X (crel: g)
SA - B S9I(B1) - KIRA - ol b e HlmS2
HEUsEE2Z NS TZHAIE 3,200,000 0 3,200,000

= 1,600,000
Al 1,600,000
403 XIS HMSKHE0IA 3,200,000 0 3,200,000
= 1,600,000
Al 1,600,000
02 SO 2 SOHERH=2ERIEFAIS I 3,200,000 0 3,200,000
OFA=EEZACI LA 3,200,000
= 1,600,000
Al 1,600,000
s 3,771,898 3,833,960 A6B2,062
= 17,470
= 1,206,895
Al 2,547,533
MEYNE 3,771,898 3,833,960 AB2,062
= 17,470
= 1,206,895
Al 2,547,533
stugaldl K& 3,493,918 3,798,460 A304,542
= 1,184,468
Al 2,309,450
308 AHXIHMSOIH 3,493,918 3,798,460 A304,542
& 1,184,468
Al 2,309,450
08 WFI|Z0HEE = 3,493,918 3,798,460 A304,542
O uZAld| (e 2,337,897
& 935,158
Al 1,402,739
OguZAHI(HMAS) 535,117
= 214,048
Al 321,069
Ozlatz & stngal X 82,260
& 35,262
Al 46,998
O Azl XA 538,644
TSSsuwa WA T3 AlIY 34,940 35,500 560
= 17,470
& 5,241
Al 12,229
308 AXIHMSOI & 34,940 35,500 A560
= 17,470
& 5,241
Al 12,229




SA R D
MM DA
Sl wSAE EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
08 W=J| 202 34,940 36,500 560
OxSSsua UL 2tA 34,940
= 17,470
< 5.241
Al 12,229
SLclotol S Al X 156,240 0 156,240
= 17,186
Al 139,04
308 AXIMSOIA 156,240 0 156,240
= 17,186
Al 139,04
08 WEJI20UStEx 156,240 0 156,240
Lclot0l AZ = AIE XI& 156,240
s 17,186
Al 139,054
SXIY 2HAHl K& 86,800 0 86,800
308 XtXIEMSO0IE 86,800 86,800
08 W=J| 202X 86,800 86,800
OFX& 2tAHl XI&
10,0002 x868% * 10 86,800
HH2SZHI (BRI ) 83,328 88,040 N4, 712
=&l 83,328 88,040 N4 T12
JI23Hl 83,328 88,040 N4 T12
201 2= 26,380 38,576 A12,196
01 At22telt] 22,380 20,376 2,004
ORAE2g Izl 22,380
2 35234l 4,000 18,200 14,200
Oo&Exte 2 4,000,000 *1CH 4,000
202 04dl 51,048 45,864 5,184
01 2L AL 51,048 45,864 5,184
O=LHNHI 51,048
203 =4l 3,600 3,600
M EASHLRFAH 3,600 3,600
2M2d g2 3,600
405 AHAHE S 2,300 2,300
01 AL =S F = 2,300 2,300
OARE 2kt 260,000 *5H 1,300
Odd 700,000 1CH 700
OFaJ| 300,000 *1CH 300




